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1/O Address
”}‘;‘;‘:" Rack |Group |Terminal Poscripition
Input 0 0 0 Start the analog read ing
0 0 1 and TWS input
0 0 2
0 0 3
Output 0 0 4
0 0 5
0 0 6 Not Used
0 0 7
Register 0 1 0 Least Significant 2digits
Input 0 1 1 of TWS channels (1 and
(low byte) 0 1 2 2) MUX in these eight
0 1 3 bits
0 1 4
0 1 5
0 1 6
0 1 7
Register 0 2 ] Most significant 2digits
Input 0 2 1 of TWS channels (1 and
(hi byte) 0 2 2 2) MUX in these eight
0 2 3 bits
0 2 4
0 2 5
0 2 6
0 2 7
Output 0 3 0 Low alarm PL 1
0 3 1 indicator
0 3 2 Hi alarm PL 2 indicator
0 3 3
0 3 4
0 5
0 6 Nol Used
0 6 7
Analog 0 7 0 Channel 1 Analog
Input Input Temp
0 7 1 Channel 2 Spare
0 7 2 Channel 3 Spare
0 7 3 Channel 4 Spare
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Device Internal Description
— 1000 Xfer in TWS (MUX) enabled
— 1001 BCD to Binary conversion enabled
— 1002 Xfer in Analog input enabled
— 1003 Compare Temp with Lo Alarm
— 1004 Lo Alarm Condition
— 1005 Low Temp Alarm PL1
— 1006 Compare Temp with Hi Alarm
— 1007 Hi Alarm Condition
— 1010 Hi Temp Alarm PL2
- 1100 Go To Subroutine to check for
valid ranges. Enabled
— 1101 Low Temp input less than valid range
- 1102 Compare for hi range enabled
— 1103 Hi Temp input more than valid range
— 1104 Less than low range latched
— 1105 More than hi range latched
- 1106 TWS inputs are OK range
— 1200 Go to Subroutine to linearize
input counts to C
- 1201 Addition of 500 enabled

<% 7-41> LS =3 |t

Register Description
4000 Low limit alarm TWS (BCD)
4001 Hi limit alarm TWS (BCD)
4010 Low limit alarm Decimal C
4011 Hi limit alarm Decimal ‘C
4100 Analog input counts(Temperature)
4101 Use in multiplication connection
4102 Result temperature in C
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| L
[ Slat 1
Rack 0
Length 2
Reg 4000
1000 BCD IN 1001
{ l
! Reg 4000
Reg 4010
Length 2
w001 GO SUB 1100
| | VG
[ A
1106 XFERIN 1002
— - O—
| Slat 7
Rack 0
Length 1
Reg 4100
1002 GO SUB 1200
___| | (M
I -y
1106 CMP 1003
] 1 —( —
b Reg 4102
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Reg 4010 | ~
1004 1005
| | ( )
11
1106 cMp 1006
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Reg 4011 | = 1007
1007 1010
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1001 MP 1100
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<
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K100 J-_O_
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| Reg ——e
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N O
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FF ©—
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1 ()
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VDT Attachment
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0" Virtual 20"
i Position
1\3/:;;21 (V.P) ©Start PB( —35)
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e |

TWS

| 2 |
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Read LVDT analog input

© Reset PB(—55- )
® Stop PB (26— )
<3 7—-46> LVDT 0421 oIHIE YTt ==

continuously

Is
PB1 start
ON

2

ers
GO SUB to make sure
position 15 at ( inches

Yes

Once at 0 inches then go to V.P.
IE{ead TWS and convert to coulltﬁ

L
After V.P.is read, start machine
cycle lssue end of cycle.

i)

Go back to V.P. after end
of machine cycle

L

If stop is phshed, stop
all machine activity.

i

If reset is pushed stop activity
and go back to (“position.
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Counts
4095 -
. X
0 iO 20 Inches
Displacement
Yous=mX+b
—4095 Ymun\;:%p‘}(m —4095
Ywmﬂs:
). —4095
Clojo{2a (4095 %X 107") Xinehes
1/0 Address
.hrd:;'"e Rack \Group{Terminal | Description
Input 0 0 0 Start PBlto virtual position
0 0 1 Stop PB2 stop machine (NC)
0 0 2 Reset PB3 reset to (0"position
0 0 3
Register| 0 1 0 Most significant 2 digits of
Input 0 1 1 TWS
(High 0 1 2 Channel 1. Virtual Position
byte) 0 1 3 (decimalpoints).
0 1 4
0 1 5
0 1 6
0 1 7
Register| 0 2 0 Least significant 2 digits of
Input 0 2 1 TWS
(Low 0 2 2 Channel 1. Virtual Position
byte) 0 2 3 (decimalpoints)
4] 2 4
0 2 5
0 2 6
0 2 7
Output | 0 3 0 Forward command
0 3 1 Reverse command
0 3 2
0 3 3
Analog | 0 7 0 Channel 1 LVDT Analog input
Input 0 7 1 Channel 2 Spare
a 7 2 Channel 3 Spare
0 7 3 Channel 4 Spare
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Device| Intarnal | Description
- 1000 Start machine command
— 1001 LVDTanalog input enabled
- 1100 Laich for enable to go to subroutine
— 1150 Compare LVDT position with 0 inches
- 1151 Position reached
= 1152 Energize reverse molor command from this sub.
- 1153 One shot Position 0Found
- 1200 Lateh to enable to go subroutine
— 1250 Read TWE block enable
— 1251 Convert output from BCO—Binary (decimal)
— 1252 * Multiply (according to equation) enable
- 1253 Subtract enabled
- 1254 Compare enabied
— 1255 V.F.found(1254 ON)
- 1256 Energize forward motor from this sub.
— 1257 One shol position V.P.found
— 1300 Lateh o enghle Lo go lo subroutine
- 1350 Compare LVDT with V.P.(Z=)
- 1351 V.P.iound from=
- 1352 Compare LVDT with V.P.(<)
— 1353 V.P.found from=
— 1354 Lateh found V.Pfrom=>
- 1355 One shot found V..
— 1356 Latch found V.Pfrom<=
— 1357 One shot found V.P.
— 1360 Reverse motor from this sub
- 1361 Forward motor from this sub
= 1362 One shot found V.Pfrom = or from>
- 1400 Latch a resel PB condition to go to sub
- 1700 Laich to go to machine cycle
— 1750 (o aub machine cycle
— 1777 End of cycle signal

<33 7-49> LY & 2Y

Registr | Description
4000 TWS value in BCD.Virtual Position
4001 TWS value in binary after conversion
4002 Subtraction of -4095
4003 Virtual position in counts (equation)
4100 LVDT analog value in counts
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000 001 001 1000
1000 XFER
| F N 1001
Rack 0 —Ok
Slot 7
Reg 4100
Length 1
1000 1100
|
1) O
1100 GO SUB 1150

L
!
7

1153 1100
‘ I

! {U)r—
001
002
1153 1200

L

— O
1200 GO 5UB 1250

|

¥

1267 1200
__| 1 @__
001
—
002
1257 1700
— | o8
1700 GO 8UB 1750
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1777 1300
| 1
1 L
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| |
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1] —0)—
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002 1400
||
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1]
1 O~
1153 1400
] 1
] @__
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1360 REV
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.
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Reg 4001
Length 1
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Reg 4001
X
Reg K4095

Reg K4002
Seale—3

.
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Reg 4002

Reg K4095
Reg 4003
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.
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=
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